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int main()

{
("Hello World"

HTML,JS,CSS
Ruby

Fortran

Haskell
Assembly(GCC)
Objective C
SQLite
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j— 54 program el
AR i s 0 | .
%31&25:&: ' writeln ('Hello World')

hTED

Copyright

Target 0S:

Compiling main.pas

Linking a.out

/usr/bin/ld.bfd: warning: link.res contains output
12 lines compiled, 0.1
Hello World

sSec

...Program finished with exit code 0

Press ENTER to exit console.
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program sum;
var kingaku, sen, en: integer,

X

F—IR— M50
T — 5 DERdHAGH 7

begin / 11D _Cb\éxniﬂﬁ

write('kingaku ?: ");

readin(kingaku);

%

sen := kingaku div 1000;
en := kingaku mod 1000;

/'/f__l_'j _Cb\églzﬁ

writeln('1000 en =', sen:8, ' mai');

writeln(len = ', en:8,' mal'),

BEADT—D
 E=HUZEITDOTL)
DEF

readin

end.
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1000 en
1l en =

kingaku ?: 12345
1000 en 12 mai
1l en = 345 mai
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write('’kingaku ?: "); | XAvt—> [€3(E? ] 2F%

readin(kingaku); | B#>—H%&HHAH

sen := kingaku div 1000; | FFA#& 1 XD
en := kingaku mod 1000; Z5t8

writeln('1000 en’, sen, ' mal'’);

erteln(ll en ', en, ! ma|'), E‘l‘%ﬁﬁn%’&‘ﬁz—'\

readln| #&H DD readln
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@ ®
T kmgak#b readIn(kingaku);
sen := kingaku div 1000; —t = .
en := kingaku mod 100p; BT —H & 5drAS
©),
> eNn  ~—
$£§§sig£ "~ writeIn('1000 en =, sen, * mai’);
- writeln('l en = ', en, ' mai');
//
S€en sTEGARZ R
F—SDEFED
13




BINEFHNRRE

- T2 o IFENNREN
B2 (EEN0) INSUTEDEEHE
{51) 1)
0 0
3 3
2 8 1278748623
4778 —456375939
—1 8
~10 2. 190872
~ 1250 0. 000178

14



BINEFHNRRE

B FF NN BN
ZENE = |kingaku :integer: teihen :real;
TNAREHE |+ - * div +, -, %,/

div (FBIDE (RD

(EHIDIET)
&R mod

15



24

s ZHUC(L, BAREE (B E(FT—HDiER

AN
. B integer
F RN E real

- BHWEETI(E, BB ZIEET D

16



M — S DEITRET

+ A

— =

* ]

div ZIDEDE RDIEUINDIET)
mod = DEDEIFR

17



HIRE2 . BEOSEE 5.

i Fedein :f_n-.n-

- REATGHIPAA T, EU/IMROWME =K, T
RIBD IO L=ES.
) £EEH7 6 SHDLE,
500ME: 1M
100HE: 2#
50ME: 1
10ME: 1#%
S5HE: 1#
1ME: 3
- BIZE T, FAEDIZS, HMFEEFBIR (BED
M) EWDZEICTD
« ZIESDONEZIRDIZH(C, BIEDEE=ED 18




program sum;

var kingaku, n500, n100, n50, n10, n5, nl: integer;

begin
write('kingaku ?: ');

readIn(kingaku);

—F—IR

X

i hedre v gl

NANSID

n500 := kingaku div 500;

n50 := ( kingaku mod 100 ) div 50;
n10 := ( kingaku mod 50 ) div 10;
n5 := ( kingaku mod 10) div 5;

nl :=kingaku mod 5;

writeln('500 en', n500:4, ' mai');
writeln(*1200 en', n100:4, ' mai');
writeln('50 en ', n50:4, ' mai');
writeln("10 en ', n10:4, ' mai');
writeln('5 en ', n5:4, ' mai');
writeln('1 en ', n1:4, "' mai');

n100 := ( kingaku mod 500 ) div 100;

readin
end.
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kingaku 7?: 12687
500 en 25 mai
100 en 1 mai

50 en 1 mai
10 en mail
5 en 1 mai
1 en mail
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program sum;
vary: integer,

begin
A2
write('year ?: ; R

readin(y); /

Iff((y mod 400) = 0) or (((y mod 100) <> 0) and ((y mod 4) = 0))|then begin

—h

writeln(y, ' is leap year'); ZMAREE DY DIEES(C
end EITSNDED
else begin
writeln(y, ' is NOT leap year'): | &40\ D Y7 72 UW\GS(C
end; EITNDEPD
readin

end.
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year 7: 2024
2024 is leap year

year ?: 2000
2000 is leap year

year ?: 1900
1900 is NOT leap year
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program sum;

uses Math;

var gankin, nensu, ganri: integer,
var nenri, r: real;

begin

write(‘'gankin ? (en): ');
readin(gankin);
write('nensu ? (nen): );
readln(nensu);
write('nenri ? (%): ');
readIn(nenri);

F—R— RHs5d
5 — A D5dHA %
1T CTWLBED

r:=1+(nenri*0.01);

ganri :=trunc( gankin * Power( r, nensu ) );:

writeln('ganri ="', ganri:8, ' en');
writeln(‘'risoku =', ( ganri - gankin ):8, ' en’);
readin
end.
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gankin ? (en): 10000
nensu ? (nen): 10

nenri ? (%): 2
ganri = 12189 en
risoku = 2189 en
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ganri := trunc( gankin * Power( r, nensu ) );

r (XEEF
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ganri|:= trunc(jgankin|* Power¢ riinensuy) );
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var gankin, nensu, ganri: integer;

(EHEES)

ganri := trunc( gankin * Power(r, nensu ) );

writeln('ganri =", ganri:8, ' en');
writeln(‘risoku =', ( ganri - gankin ):8, ' en");

AER

var gankin, nensu: integer;

var ganri: real,

(EPEE)

ganri ;= gankin * Power(r, nensu );
writeln('ganri ="', ganri:8:3, "' en’');
writeln('risoku =', ( ganri - gankin ):8:3, ' en");
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